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Example Candidate Responses — Paper 2

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge IGCSE/IGCSE (9-1) First
Language English 0500/0990, and to show how different levels of candidates’ performance (high, middle or low)
relate to the subject’s curriculum and assessment objectives.

In this booklet, candidate responses have been chosen from March 2020 scripts to exemplify a range of answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers, where relevant.

This document provides illustrative examples of candidate work with some examiner commentary. These help
teachers assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in
some circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are:

March 2020 Question Paper 22

March 2020 Paper 22 Mark Schemes

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support



http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 2

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- or low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response — Question 1, high Examiner comments

0 Effective opening focused on
task and audience. Varied and
precisely used vocabulary and
sentence structures.

e The candidate focuses on the
specific audience and on one of
the most important ideas in the
texts.

That_yor. e hey hnerr wrhek Tims o spemed sgsstn dosee,..[  Examiner comments are
Thel W:’e. )\éﬂmﬂv}\ix ﬁ;ﬂi\i béi{t,x L - 7 alongside the answers. These
N VLM explain where and why marks
Answers are by real candidates in exam conditions. ‘?K& were awarded. This helps you
These show you the types of answers for each level. to interpret the standard of
Discuss and analyse the answers with your learners in Cambridge exams so you can
the classroom to improve their skills. help your learners to refine

\their exam technique. j

How the candidate could have improved their answer

» For reading, the candidate recognised the purpose of Text B as being a marketing device. The candidate identified
how the success of new technology companies depended on some wasteful and potentially sinister ideas.
However, the response missed some opportunities to examine the implicit points made about the effects of the
Internet of Things specifically and how young people in particular are affected by it.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

» For reading, the most common mistake was the lifting of points from both texts and providing only a general
discussion rather than an evaluation of the ideas. For example, technology in general, rather than the advances
made in the Internet of Things, was the focus of many responses. Another common error was candidates taking
the ideas in the texts at face value. For example, candidates did not take Text B as being part of a marketing
strategy which categorised consumers in an attempt to sell technology to them which was not needed and had
serious drawbacks. Where candidates saw each text as being separate and not linked in any way, this also led

e idea that people

Often candidates were not awarded res shown in Text Lists the common mistakes candidates made

marks because they misread or in answering each question. This will help your

misinterpreted the questions. learners to avoid these mistakes and give them
the best chance of achieving the available marks.
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Question 1

Example Candidate Response — high Examiner comments

Read Text Aand Text B in the insert and then answer Section A, Question 1 on this question paper.
Section A: Directed Writing

Question 1

Write a magazine article for yourg people about how far they should keep up with the latest
technologies.

In your article you should:
-*  evaluate the views and attitudes people have towards new technology
*  give your own views, based on what you have read.

Base your atticle on what you have read in both texts, but be :careful to use your own words.
Address both of the buliet points.

Begin your article with a suitable headline.

Write about 250 to 350 words.

Up to 15 marks are available for the content of your answer, and up to 25 marks for the

quality of your writing.
' ye il et i L2

o et o pome WMTWMWMM ...........................

0 Effective opening focused on
W M\& %’QL me—ta&& A0 HW&MMW ................. task and audlence Vaned and
Thel w@«\)\;@e— Mhoukd J%M w%% d,? precisely used vocabulary and

sentence structures.

e The candidate focuses on the
specific audience and on one of
the most important ideas in the
texts.

e This answer picks up on the
cynicism implied in both texts
about how technology companies
exploit their customers.
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Example Candidate Response — high, continued Examiner comments

Ok ot ’Ume, o AL o, W g ol grople. e e B YO

WWWQW ..... 1 MWG{?EM ........ t@' MW o The candidate rewords and
aelion tnhtas sl 18 chaslad 1 WQ&— develops some ideas in Text B.

The answer is less evaluative
here, although the points are well
made and cogently expressed.

e The candidate returns to the
specific audience, although could
have done more with this idea
to show how susceptible young

ety g 0gan. cw»a«(,s.)zu;a people are.
BeMons e et LT M%MMWW ........................
MWM e 'w\ﬂwq Ta.guevg.0 Weoﬂw ...... ...

e The answer fades a little in
terms of effectiveness of style
and evaluation but focuses on the
specific audience and task.

Mark for reading = 12 out of 15
Mark for writing = 22 out of 25

Total mark awarded =
34 out of 40

How the candidate could have improved their answer

» For reading, the candidate recognised the purpose of Text B as being a marketing device. The candidate identified
how the success of new technology companies depended on some wasteful and potentially sinister ideas.
However, the response missed some opportunities to examine the implicit points made about the effects of the
Internet of Things specifically and how young people in particular are affected by it.

» For writing, the response was well argued and effectively organised with a clear sense of purpose and audience.
The first part of the answer clearly demonstrated the candidate had an understanding of what was being asked.
The ending needed a stronger finish in terms of style and evaluation.



Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner comments

Read Text A and Text B.in the-insert and then answer Section A, Question 1 on this question paper.
Section A: Directed Writing
Question 1

Write a magazine artlcle for young people about how far they should keep up with the latest
technologies.

In your article you should:
.evaluate the views and attitudes people haveé towards new technology
‘give your own views, based on what you-have read.

‘Base your article on what you have read in both texts, but.be .careful to use. your. own words.
Address both of the bullet points.

Begin your article with.a suitable headline.
Write about 250 to 350 words.

Up to 15 mafks are available for the content of your answer, and up to 25 marks for the

quality of your wntlng )ce - \)JCJ‘C\ 6‘

‘jdev\ceswh\chwe ..... call ke, :
é

..... he.. wcld..is Changing..2nd...s9. %@or mkj

,_,@é_._\\rfe 15...ehaging . mbich ms:dQes VS.. gck\pi‘ed

o This is a reasonable

rcn 3L ’fhe CL&)@SHGO og hc::m ........ r ..... w(:shook% ...... introduction that sets out the
task. Clear style and register are

...................................... used, although there is some

............. awkwardness of expression.

Wl o nﬁ\\@qgue5 ond fQued ONES... eqs«J\j
_W\c_:___.g_y_.sm (deas. help. to. lnngvc&e some...greaf

L—,h\rj%g, aal. 008 Res . oy lifes...easier oﬁA
imProves. ihe. ezzﬁhcrenm OF-FOg...r00d (0. wqxg,

<f hrfee‘lhe 50 co\\ed

e Frequent errors, although most

are minor.
V) Q\’.‘..S.E.Y.’..\!.‘..C..?.
PEQ P U\)‘ﬂo ‘OQS Q AT ‘D(Oﬁ (3 e This is a straightforward
"6 ‘\— D(O m\ Ses +O m@? -\' Q ne% ...................... TS, reproductlon of pOIntS |n TeXt B
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Example Candidate Response — middle, continued Examiner comments

.\.
Josput..ed..al..of.dhis,. 5om.§i... GMQOP ..................
et {-Gcthlcnu '5....d€5’rm%\ .....................
..bE\‘eve thak +he

d@ ve\wer% Qren’+ .
secur ity
m\-ﬂ

X tzes. o life! s

' , $Q519( L DQEL.OVE...

LEhey. State.. %m..m that. %new ’rechr\o‘agg dlsfums
the.  fradifiona. metnod.. Of-800pping. Moreove
Here . are. some people ha, donot need G

the.products syl "isssE_they . J0St. Purthase.
ir 1o hoye o \EQo\mu ecl%e ag.use.; Oad\ﬂ‘f}bn,wh@”

0. Yae. 5&(@03 QPINION, *rmx r\ew ‘reshﬂolc%g
i9..8Q.0Ied IN.Q0C l\&@ V\le Need.. o revolotionize

) @U\"'E)ehff) qmd...s.ge ..... fhﬁ....br.z%hi ...... ,a..l.éte ...... of. Qs 1jfe

_ g.....me ...... Qm!.g ..... ' 2
.@urchqse dhe.. t\un%s shigh. ore. requicd. ond.
5eeR ff@r .behefj\‘rs_...@m.mﬁf‘:m..e

) LCX’E.E’S’( A2eN0.01099..15..0N0IY. he\mul i€..3)..is0t
0isVsed. by .us..Hence. it ngrmﬂobug

.............. po (:L.(b@@
QA Qhomge an\ hq\;e OnQQf»(Qr way.of. Nide.

o This is one of the evaluation
points shown in the mark scheme,
and shows some judgement of
the implicit ideas in the texts, but
needs to be explored more.

e The candidate uses a clear
style although there are a few
lifted phrases and some errors.

6 The candidate offers some
thoughtful judgement, using the
implicit idea in the texts that a
balance is needed between the
drive for technology and a more
cautious appreciation of it.
Mark for reading = 10 out of 15
Mark for writing = 12 out of 25

Total mark awarded =
22 out of 40

How the candidate could have improved their answer

For reading, there were some sensible references to the ideas in the texts. For example, the point that new
technology could make people lazy, as well as the considered discussion in the last few paragraphs, allowed for
a mark to be awarded in Level 5. If the candidate provided some explanation of which aspects of the Internet

of Things made people lazy, this would have provided sufficient detail for more marks to be awarded. A more
consistent analysis of the attitudes in the texts was needed, rather than mostly reproducing ideas with some

summarising at the end.

For writing, the meaning was clear, although the style was fairly simple and inconsistent. There were some
spelling errors, such as ‘ourselfs’, and also a limited adaptation of style for an article aimed at young people. Aless
discursive, personal style with more sense of audience would have allowed for a higher mark to be awarded.

9




Example Candidate Responses — Paper 2

Example Candidate Response — low

Read Text A and Text B in the insert and then answer Section A, Question 1 on this question paper.
Section A: Directed Writing
Question 1

Write a magazine article for young people -about how far they should keep up with the latest
technologies. . I e . '

In your article you should:
.* -evaluate the views and attitudes people have towards new technology. ¢
give your own views, based-oh what you-have read.

Base your article on what you have read in both textls, but be careful to use yoﬁr own words.
Address both of the bullet points.

Begin your article with a suitable headline.
Write about 250 to 350 words.

Up to 15 marks are available for the content of your answer, and up to 25 marks for the
quality of your writing.

e
‘ﬂ\ﬂ 'H(u w.lu(‘,h m&)t&ﬂbr ......... u..bu..
% hel/u;»ﬁ /n,wﬁ&.e. .................. %?dod&

oh erond Kind o Ky, TL\M . e,

Lotest  tecnolog w\j’dn hael . ebfmalted.
o, 15 421 Ton oro%ds .................... ond_seen..
%\fmr\ﬂ-c)” eum\e I\ow;e o lol é)él‘aecj-q
Ao the dnd 9 d»n"( NSl p st
o ok hedhle.. hamdt....So.... mmmh ......

m%a HSs. m,;gf\:i‘ he... . hecoude
’Muj ........ r\emi o leonn.. . .oud.. Hehno *Hru;a

bopte_otours. 6 K caighd be. for Hhov..

Aviar Fo% [z ArAninnm sina

Dt B AMe /)()n’(: mu,d’ LCRD.
..... 6’6"( 'H/\.v.m\‘idum —’HWU-I ,&t nu/iu’\} \l’@ be

ok the . fe,ao&r(\? ........ e. ...... %uzse, Some:

Iy S %ﬁ.,.f.ﬁf...f
: afwl e St bbw wuou Smole’n ‘,L}im(.wj'

Examiner comments

o Imprecise use of language.

e This is the only real use made
of Text A.

e Some reproduction of points
from Text B are made, but
with limited comment on them.
The candidate makes some
basic errors in punctuation and
sentence construction.

o This is very close to the
wording and structure of the text,
and is a limited comment.
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Example Candidate Response — low, continued Examiner comments
o Thexs ot Sbont. Kendl o -
......... WWb“ﬁ W ( N S 5
L6 L)&}W(Q, :) Y. SW(L{J)?SE ..... LY

0 e This demonstrates a hint of a
AL V\ﬂ{ L ﬁbt’? "{T(\U)’L [RaY AN S on o‘\&—(;.f\(t Judgement_

\p@w wihih willl pok ma%n

05 °<!ON>’ r[g AJDMO wak J"u\’i;'f ..........
{5@*( Some.eng. L. oleve 4O Hn

%(f\wwa M wwuejxu rD Hae A@M

o Sowarce. and. Haan only! +INL<7 uﬁ.U. ............
bow o fooduct.? Sh%j P

Q«MQ. the. | Kinol @ eho.... MU ...... q
) MOM i

NRNNI22IEMAION Mirm Avear

g C\mu gﬂowmwmg@m

“*“ﬁ

......... W e.. EI aﬂbo W %uodt Wl \f'L’)
buﬁ A /(MW sanch. ool wabod......

i ¥ —@% L) W/\,{) :/ %{3 }M
fn. -sHadon, oud. f] d b

6 The candidate begins to make
some judgement and give an
opinion, but the style makes these
ideas unclear and some points are
misunderstood.

Mark for reading = 7 out of 15
Mark for writing = 10 out of 25

Total mark awarded =
17 out of 40

1"
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How the candidate could have improved their answer

For reading, most points were reproduced from Text B with some lifting of phrases from the reading material. Some
simple judgement was offered at the end, although some points were not clearly understood. The response was
relevant, but it was not an evaluation of the ideas in the text. More understanding of the arguments in the texts
were needed, for example, the risks to privacy posed by new technology.

For writing, there were some consistent basic errors, such as the misuse of capital letters and sentences were not
correctly demarcated. Where phrases were lifted from the texts, marks could not be awarded. More secure use of
punctuation was needed, as well as a more articulate style which was not dependent on the original texts.

Common mistakes candidates made in this question

For reading, the most common mistake was the lifting of points from both texts and providing only a general
discussion rather than an evaluation of the ideas. For example, technology in general, rather than the advances
made in the Internet of Things, was the focus of many responses. Another common error was candidates taking
the ideas in the texts at face value. For example, candidates did not take Text B as being part of a marketing
strategy which categorised consumers in an attempt to sell technology to them which was not needed and had
serious drawbacks. Where candidates saw each text as being separate and not linked in any way, this also led
to some contradiction. For example, the idea that people were easily taken in by new technology in Text B was
contradicted by the slow uptake of figures shown in Text A.

For writing, the most common mistake was a lack of adaptation of style for the specific purpose and audience
given. Candidates who did not demonstrate an awareness of purpose and audience tended to write about ideas
from the texts using a simplistic style and lacked some persuasive and argumentative techniques vital to engaging
the reader.

Most responses were reasonably accurate but needed to have been proofread adequately to avoid the use of
incorrect homophones and incomplete sentence structures.

12
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Question 2

Example Candidate Response — middle Examiner comments

Descriptive Writing

2 Write a description of a place you would like to go-back to.
S ———

Please write your chosen question.number here (2, 3,.4, 5): 2

................. ' ﬁmmh—,‘wt
4. m,:hva)tmﬂ Laktia.. |

i ¢
hmobtm.q Ao smouumq smmuﬂmm) J;s“ét ande qold The

0 This is quite a polished
..................................... opening, effective and quite
m/ut'o *)’he )soam-beeebae, thvu: orouan. boaxrd ULl . o evocative. The last sentence is
incomplete but is written fluently
................. and with an appropriate style.

& rine

HMad mvlvw] me e cSVU-WXS I W bnca,auml W a hafwm

e This is a nicely focused
.............. paragraph on the impact of the
Loul - e J landscape on the narrator. There
i " ’ e are a few errors with expression
but secure style.

WW%W&WMMH’S &DWIA.,

13
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Example Candidate Response — middle, continued Examiner comments

gm WAL A A MRTT VAL A .. TR ijw orouwn. sand.

wwMM .............. e, 1og elan O e sides, mm M ......
‘SWW*\- Vu,ww ) ONWLq& avl., pwrpte Whoured Lound- 10, e Most of this section builds a
Jd

picture of a beach landscape quite
effectively, although there are
errors with tense.

SW ..... wwwn ..... W WS 9 . ood - T vikad | @) Adifferent focus for a new
2y RO UWHaned WL e o0 fuins Savd, - paragraph. ‘Strong and moody’ for
3 u;f-mg) t e ' m e e quite mundane-sounding buildings

seems a little unclear.

e oqu ivon, - [—owmq Ir 5WA owubbw In &wvmj_" oovs

e This section seems out of
place and incongruous (actually
the opening scene of a Dickens
novel). It strikes an odd tone
which is not evident earlier on.

14
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Example Candidate Response — middle, continued Examiner comments

Sowua w,p nop . WM(M,«M e , A Serien fl..qiqqven et o
ALY e The sentence construction is
.... Chne boesty ouk w [6) , . ... | less secure here.

o ome's vwse,, bbbl Nadlchiase V"“lf‘(‘@hs“"ﬁ me_Pthe
: : d (R0 d ftd
arownde - Time freze for 2 {—u,o seoviay , | owdan 'E hear

0 The style here is a bit insecure,
........ HA/L M nor _move a rukie - OVW'I VlM, e,u!%vaefabed_ especially towards the end.

it Yvu?, D fanre 4 nebat pittyurs 0] rw, M,Ft"l\/m»ﬁ{] _______ 0

The candidate commendably
. beany o
o .. %lot haitn, W WM’ ‘Sww] me attempts an ambitious ending and

the piece, although inconsistent,
is often engaging and sometimes

......... . effective.

o anol g oraeows m% O owdber HVk aMp(, bLOod, Mark for content and structure =
e VMM 9 g 'j,] ......... 1 out of 16
vest. The - abbpw,q Sliqny | Ieverrast Fovest Soon, stoubed Mark for style and accuracy =
wupryivy. e "whore aren, Towgw v deglicared O 13 out of 24
U bmq AL e 16 o ond - e , Total mark awarded =

24 out of 40

How the candidate could have improved their answer

For content and structure, there was some ambition and a clear attempt to create a consistent, convincing picture.
However, there were some sections where there was a shift in tone and the writing became disjointed. The different
parts of the scene were organised and paragraphed, although they were not always linked effectively. Some
choices of images and ideas were made consciously for effect and while some were effective, others were less so.
Therefore, the description was sometimes generic, lacking focus on closer details.

For style and accuracy, apart from one paragraph which was inconsistent with the rest of the answer, the writing
was clear and varied with some precision. There was some inconsistency in sentence construction.

15
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Question 3

Example Candidate Response — high

Examiner comments

Descriptive Writing

3 Describe the other contestants in a competition before, and after, the winner has won.

mm Jndad 1endict. WLMW.MM M
J(hww‘tw, a8, dmidon, .. & MMM;*MWWM AR

MWWMMWMMQW
o Wmﬂwm MWWWWM% i

Skema WA v velehung.. Mm% ...... H QWMWM Thacke.

Tomm m&méﬂm}&m Hqume
WWW&}JX‘&MWWM He domed calm and Joand

Hack.. Ve Lrokad. dn. ot b qround . engrosd in s i ...

and

hougits.. N hod s k. bnosmcsgen, o atnad rase. He

ﬂ The candidate sets the scene
in a fairly straightforward way with
an accurate and controlled style.

e The description is mostly
factual but builds a detailed,
realistic image.

16
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Example Candidate Response — high, continued

Ahwade, omach o hele e e, hack b hia droods. Ve 1
o bt ants, amd 200, s0mae shot. @)

ke qudae. slesd, ng/zovct o
0. shpheard. and: exswned i conhaully ekt

WM ...... 8 2.084080 . S _— _—
qg.ﬁ&\ron;g} Yo And el Fheho To s Lol

ol v B et gy, Th. b T g 2t dsmed T
Ttnap ok S Al de e, T Aneded ond. tonqteluliled
'U/\f’. ‘el .................... e errrtenenere e

Examiner comments

e Another pen portrait of a
contestant. Some closely
observed detail is provided,
although it lacks the emotional
impact to engage the reader. The
style is accurate and precise.

o Alittle more evocation of
atmosphere here, especially
towards the end of the paragraph.

e Some use of varied sentence
structures to create specific
effects is used. A cohesive,
realistic overall picture is created.
The candidate organises and
paragraphs securely.

Mark for content and structure =
13 out of 16

Mark for style and accuracy =
21 out of 24

Total mark awarded =
34 out of 40

How the candidate could have improved their answer

For content and structure, the overall impression created was credible and detailed. However, overall it was
a rather objectively observed scene which did not quite sustain the reader’s engagement with the drama and
emotional intensity of the occasion. Some sections lacked the complexity and range of effects needed to be

awarded a mark in Level 6.

For style and accuracy, the writing was almost error-free and was efficient, controlled and precise throughout. For

a mark higher up in Level 6, a more nuanced and subtle style was needed, with a more precise use of language to

evoke the occasion and engage the reader.

17
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Question 4

Example Candidate Response — low Examiner comments

Narrative Writing

4 Write a story which involves some sort of delay.

LOneh...apn....0 Hone s Uil Q. he....
.namigl... @aﬂe&b ........... C} hangle...he.. [hued. @? ............
o Tonsl.. Uoo(u annl el ubeol... +Obu® ..........

....... WS bSerds: o (8. Lsna...a et towd Y
0 um& ....... {fw 0.

. O
..... 38 L. Ao K u’) ¥ 9)5
buk. e vod:.a {' d) /Anu)ej{ «%0 oLkl ,
‘ A 0 Some attempt is made
AV I /Y0 S //LD‘L Sery... oo . ThL whole to introduce and establish a
9 o s character, although perhaps a

\MUQ,O!? (‘%\DM Nmbwe e /\/‘ g .......... little simple. The candidate makes

ry\f()s__g edrnounluild . o . B E use of a clear style with some

. ) . basic errors, for example, capital

9‘ ' ” ' !etters are missing and tenses are
Wﬂd n@fﬁ Lhadldd....owmd... 60,0)(60[:% ............... msecure.
soh... Wéwe ot lalS .. Aa,o(

MWC) MR@K%PI ...... I'VS {-a)%ﬂﬁ e
..... ‘gsmz\ Spoctor...c0. holied..o0d b5 ..

(3 """ e The response develops
...... {)—nﬁ/\m A W@Lej\fex\‘}waﬂd s | the backstory a little, in a
Og’b e LN straightforward way. The meaning
.................... : . ’ is clear, but there are errors in

tense use and spelling.

DOna... o AJS ..... émﬁf\m ...... codded. . minn. ket
o Sers ok hGS.. oo,
_Rakesh . lr\aol 8D.... b LeHS.. ot b

dant Yo, becomi. Lo bis. . sten cyé;ﬁﬂxo
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Example Candidate Response — low, continued Examiner comments

qeal o)
ake Am. ....... gm TN mffﬂwz _____

*H'\Q'muleu A{—UL e ‘lm‘ﬁ
%Q Leowﬂ qﬂa%e,&éwm ....... '\8 f%MGJoK
m. abeut L0 conndor.,. b.wi....féke.s ...... Lomd.....

Rakanh bwueih\-s ...... od ...... W It meﬂ'“ ....... 9 . |
me grammati
:.{’.O ....... {‘GLL % ..................................................... %.... .ﬁ ............ disagre:n?e?]t is vadaent_ The

answer is paragraphed and
organised accurately with a simple
progression of narrative.

A {—U*i Senad FW\Q 7‘75\2 bﬁ@h«iq#\/\m ...... 7
'ﬁmu.c,g. oki vedl . 4. Penns. ém ALk,

ILES 2020 0BO0/22IEMI20
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Example Candidate Response — low, continued Examiner comments

o Characters’ motivations and
reactions are not explained or
0 explored.

: & -2 “H‘Q wMSW safnl D{-(lg
the lort oot ood B 1L ﬁ?’ @uwﬂ(’nof

6 This is a rather abrupt ending
to address the task but without a
real climax or denouement.
Mark for content and structure =
7 out of 16
Mark for style and accuracy =
10 out of 24

Total mark awarded =
17 out of 40

How the candidate could have improved their answer

» For content and structure, the response began in an engaging way although this was limited towards the end.
Although the sequence of events was reasonably well outlined and organised, there was limited characterisation
beyond the first paragraph. The reader was given little insight into why and how the protagonist behaved. The
ending lacked impact and the story overall was incomplete and lacking cohesion. To be awarded a higher mark,
more attention should have been paid to revealing the characters’ inner lives as well as what happened to them.
The response fulfilled the criteria for Level 3 but did not meet those for Level 4 in terms of management of its
structure.

« For style and accuracy, the meaning was always clear, although errors were sometimes serious and the language
too simple for a mark to be awarded in Level 4. Errors in tenses, grammar and a limited range of vocabulary would
have needed to be addressed to be awarded a higher mark.
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Question 5

Example Candidate Response — high Examiner comments

Narrative Writing

5 Write a story set in two different times or places.

ER— ﬁ....;.‘Qv.\ds...m&\;;g..&mm&.ﬂm‘..;hﬁm..4..m.\!\g.:;m=...dmé..-olremms..,..‘;msa.....
- fingeds.: Soying..wita.. Hae. duck.. dape. Y. ok acwolly.. foping....

. ..a\vsy.thi.vx%...,pm.tiu,\m...',.....hvsless.:.;_\AQM..,.mumt.....m‘minga...mlda...kq.t...hmd:..lmtu.
. axcsl:'lf).agmﬁﬂlw% ..... 10..Vestigate. . Where... g, Sound Jaadk... cowe.

..k.mm.,...um\ﬁ....io...@m...m.....\.onms......J.c.\nosfc....:.\...M;...W%am...jm.

“.'_mw..m.wg\e..'...swi\.\/.img....-Jm'm%\ﬂ:.m;;.gocmokm.r;.«:...\..s.k.ro cedd Hdi......
0 This is an engaging opening,

WIQ&W\’E,..&V\Q-'.W&&JW&muﬁ%.Q&cQ\.hW.-kime ........ Carefu”y Contro”ed to interest the
FesChocechs ond. ... SWpfedk Teko. -0, digkeumad. Yealw.. aliogeResy... @) | reader. Very few errors are made

....l...immgds...%%mm".ﬂm.;b.\.o.\x'\c)o%.' T was 0 pickare, o RO

and a precise, varied choice of
language and vocabulary is used.

! .

Hnos...1959,. ek oo Jusk. e qvmounced o and. k. Mg
..o ooy mewe.. peiYied...avd... uns....0f... Shgic. Joe.....
n e N0 avds.. Mg wuslomd... S and..L e, Dliggli...
mW,}M&bhOWNMUjNedsavemmhb-lh\z\\jmwe0&-&4&

. '.hom&m&ﬂ..‘..<..V.\:\(K.w;-.-v.‘..Wﬁ&....Ne.v.&...l(.\‘!(al(\SC)/.\QQ\;«..S.lﬂ%&\l&eﬂ\ths...mﬂ'd&i".hﬁd .............
" dedded 0. Mot HE.. M0¢... Knoi.... cight... ke Pando... Lavided).. V...

. . . . ) o Jewish
..wash.;.;.,.‘amk.....\mcmum..z..;nb....cxk.si..f&e.;..mns.mm%.s.;m.a.(fgm....bﬂ,g.cm .........
00K . WE:.00... Yeibed... 0.2 SO0, ey YOEMut.. Haak K.......

; . : - 2 e This is quite a broad
0. 06, Hey. Come...p. ok L. 005 dekenmnined... 3. ke, 3b.G5... e vas for a narrative but the

c;sw\e\t)ﬂs\muldg characterisation and setting are
. - ‘ . e Tt . assured and controlled.

PP RS UIPY SR PO SR ST SO R A L S

.ukt...bmk}sash.»...am;... g r.vi\.)tg...;..‘.:?d&:\iib:..rmd-.‘..(m....:M@s(?e&ada..;la%x.n..
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Example Candidate Response — high, continued Examiner comments

km...ﬁpm...&wa..san..,..._mk...kmmm&....d.ho\a-,....mas...mme ..... mmi ...............
Caiage...ouv... . yoreua... .. S keesseh.. 30, Mg, ot G 0 5.....
.. N supposesl....&n....\aﬂ....mucox\:ed....to....m...p.laca....im..:&..ﬁushm‘wz; .......

&0 Leowe anuchv\x JE. qwak\.\a pmcked....M...ow....vnw%cr ..... b Movgahﬂa
mm\...sat....assfmb Ko, e Aol Srok ok Whexe... wwy °d Sowlas.. Tewigh

CGW B ‘\’V\m o 9

!................................................................................‘..:...............'...;...........;....................x....-.:a....... ....

-ane...mooomwx%...:\he...%mm...;....\....aw Wk0...0... e Snwnoex.. .. (M\ﬁ
Quoke.. 0e...4Ne... peaichnedk: 30 Qo 0F . Jouonyy. Suddeni ...
voem0eis...of. Mg Nozh. vy .. Smg\w ... Gbin..and...
drogoed. Pawlo..aug....\. auk. Dowidowed... | Sared... a. . suymmm%s
Ve Neve. S e iddle. ey mwxp ke: Q... oNBQ) Wi,
NG, pammd 09 and...vack....A k\oMet..%uam\ drog%( fauso.....

................

L RS he)fded nto:. & pue H( sh\rtemj NBIMEN.. amd ....... b m&(mg.....
sitdren.. Ny heod... 05, W\mx\m6 08700 Shpped... We...5....

W“J ....... Wh Enes....,...!om...m\n\%m\é - Yod\. &mm old....mddx.._ﬁ
-hmg ...... .. Sifed... B 0o 0n 0w, 908 oe.w ot grem
Sped.. QOGS 140 ey 40 J0d - . A0 0c0.... RERZDRD.
qqmss......mﬁ...weamu )ms WS e 4&(\\:3« 0! wx% VWA,
onding... m@zﬁm : o ‘ ‘

...........

..Sm\qm}., ..... \ ..m%...;\otwcak\.&..hm,..m.xm.l&.‘?.‘d‘..z....p.s&..s..k{m%....mw@@..ﬁm ...........
.d;mv.m..w.\emmft\.es...‘ogf..ﬁ\.«w,....c&nmmv.im...c.t).\mp.-...l.....lzL‘mKe..oL..mpioLUﬂ..,....m},.
YEMSY. 0. 50AvS.. Wee... noW. yoldng. A0 W0 }0.0e.. M. 9450 . s,
.mesmed....\o.‘()...h\e..omled...mp.ps...\%@.catk.ed 3 dae 08, \/va} [N
S0E..COMSINS... 0. .. wickily. escoped. gfore.. St W Shacked. Thtie
A Snt Aok oo haudh. ched. oo 0. escoqe.. No. .. 68 e 85 ..

W.....Lw:ey 2. shu. WeQ... ... weadm3 xing. ,MM&.&&E&;

e cw oo Soved 30, yooodhs.. 6. \is.. Saoy.. w V0N, .. ek,

e The candidate begins to lose
some accuracy and control in this
paragraph, for example, sentence
demarcation with commas where
full stops are needed as well as
fairly frequent spelling errors.

o This is a cohesive ending,
returning to the opening idea in a
carefully managed way.

Mark for content and structure =
14 out of 16

Mark for style and accuracy =
21 out of 24

Total mark awarded =
35 out of 40
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How the candidate could have improved their answer

For content and structure, the opening and ending of the narrative were effective and controlled, the
characterisation and setting were well described. The scale and backdrop of the story was a little over-ambitious
and difficult to manage, which made some sections less effective and credible. To be awarded a higher mark in
Level 6, more focus on the story of the individuals, rather than the context, might have engaged the reader more
consistently.

For style and accuracy, while there was a high level of accuracy and precision in most of the writing, there were
sections where the need to compress complex events perhaps lead to a less secure control of sentence structures
and more minor spelling errors. More consistency in these aspects was needed for a higher mark to be awarded in
Level 6.
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Example Candidate Response — middle Examiner comments

Narrative Writing

5 Write a story set in two different times or places.

..:Kﬂ.ue_j...%e.....\md.....mmtsacx....ec_m...aa\g_m..@ﬁ....’hgi.mﬁ...ga\ne‘sm&...
Snadenever.. ey . Needed.. Bachh. Sevaconel. SO ...
B i v TSI € S—

e EOAROMENE. . Sek... A2p. ... Sxouns... s o0 LS. e

....d‘.!é%\‘.cw\_‘e....ke...&.&q%...\.m..Qnﬁmt.b.\n.e....ngmbfﬁ....&mgk..m.‘.; ............
0 There is a clear sense of what
is happening, but the expression
ow%mm%wm%wmwsa ........ v | is awkward. Frequent spelling
errors are made but clarity of
expression is the main weakness.

L T —
@MV\S\\QK&L\C\V\Q\A&O\T\:E“@\WYQV\% .......................
Saoneet.. ke heds. Ree e PleR0E... SSE. Fo. SaeC. dstertn. .

TN

€ass, s A Neke... 2pes - The .. verce. . ueas.... Squeady .

O eeen. . SENNAY T up e LT remice ... SheSMmped up.........
W\—?Yof;a\.me&hk’:\v\f)\&\(@x\a\e@&—MQ&@eh& ..........
cer%%mmwmmmtm\mvmmﬁv% ..................

mis?em&,‘tcknueh ..... Ao, . XO\MSQ‘(“C‘\Qb,Q\{\?\, e The storyline is generally clear,

. . — although there is an inconsistent
..... QO mea\-\jkw%g\wel\sapﬁﬁeae.’c\!\%mb@\\*&,e use of tense and persistent

o . The £k EVEONNG .\ﬁaﬁﬂ.....‘t\fg.\c&ms...ug ......... problems with clarity of style.
e ek e e \a\q.ck,exmsg,i\&‘cmgw\m—%@ .........
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Example Candidate Response — middle, continued

Example Candidate Responses — Paper 2

S, e Blacke. Roots.. .S lae.. Loore. .. eskerdoy. . Shwe. ...

TR L Rev . bodty St felk oS
~exindie s as.an. . apneeik. e R T
\\gx\rxg_ods’r\/\‘fo\ok\w%ﬁ)m%&e{b\e.rssde,gowu\«

Sk O e dslaie. . Neegs . nen. maplagr gexbing.....

~Bea deer . Ved b, el i e Londinaed. belind. L e WKe..
Q\“\vcr.mQwvwsw%koxboveﬂe%v&d’dxﬁcxets
iXe....on Resoxes... 6

Hen eack o Aissepotodtaenl., . bolein o votee | shenis
-SCeeanos.. fea0n. oS A .. Sovalh. Aees Dok Xecognise.. ik, ...
k. pceS. g e beat Sl Aot e ... S canie b eeEl

~¥ed... Aeeeca..ansh maites. e Loy ebside. Ahe

%pm\e'c Cove.s . T s vakv-\t\,\?) Caks...anna). Q\G%Q

chm% hese.. \o Connny %MMY‘W\DLQ\j ........

Examiner comments

e A more secure paragraph here.

o The candidate consciously
attempts to create a sense of
urgency but it is not convincing.
Use of tenses is insecure.

e Some interesting imagery
is used. There are a range

of technical errors, including
incorrect use of homophones,
tense use and grammar.
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Example Candidate Response — middle, continued

Examiner comments

Additional Page

If you use the following lined page to complete the answer(s) to any questlon(s) the questlon number(s)
must be clearly shown.

PR 1= U =\ P ¢ = P X SR =0 o W& JYUR ') P © T3 VON=1 W S
e 2ronads... Ok Mg Seax.., M. e e_aegcxkkgr ............
ot g8 NOngy . Bceppedh. S faced. .. ConiasiSel M ave.,
gkﬂbagx\is%mgk ..... Rae..d8\e.... $.\om&3....aad..g.fﬁmd.\.\:s.........
WiMa.. o eonene  Queatte..and... e Aroge. felk ML ...
Slelowsed. qem kaow, A...Rewo.. uoand s
B Vv A Sara . oS Maeniedh x....
O X L ofber.. o dl O 2000
~deexas. ey Aag.prest., 20 A \I&\A.\S‘?‘QX‘
Y Mo My daasdeond. Sesk... . pe \Ca\sc bws’v SO

= e NP K‘a\se's \rMS\aocr\D\S ?\u\&w\&
..... Sz et Aidh sk persuadie . Aantlo. .. MR00 S Gauad...
..... ook @one.. oot 08 o 0ot and. . hex. neaxk. e

3&;& ........ \»@u@\ﬁ*‘/\r ..... 5}%&&?(:.\*3\\(\&&&“% of, \/\e‘f\ 4
dereinel e Sontia.. e Rasesigte. Mt \ne. xeod

....Qe&s hex &’v\ex\,é OSSN - S = o il BPRAS.... ,Q%S -
T XeeX O PomiSe. e ......

6 The plotline becomes unclear.

o There is some cohesion in
the ending, but the structure is
not tightly controlled, with some
sections of the narrative difficult to
follow.
Mark for content and structure =
9 out of 16
Mark for style and accuracy =
11 out of 24

Total mark awarded =
20 out of 40

How the candidate could have improved their answer

» For content and structure, the narrative had some clear sections and began quite coherently, but overall could not
be described as ‘well managed’ to be awarded a mark at Level 5. There was some cohesion provided by the idea
of a promise made between old friends, and the story was relevant and addressed the task, although the clarity
and effectiveness of the storytelling was inconsistent. More control over this aspect was needed for a mark to be

awarded at Level 5.

» For style and accuracy, the range and nature of errors in the writing limited the mark that could be awarded,
for example, some awkward expression which occasionally obscured meaning. Tense use within and between
paragraphs needed more consistency and precision to meet the criteria for Level 4.
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Example Candidate Response — low Examiner comments

Narrative Writing

5 Wirite a story set-in two different times or places.

b ? ’ (\/\_e SC\AOO\ "'J]\D 3 G SO

o A
“Taio wodth eddesae: Ekaim
O m&\ ‘/WA s Q

Tip. Len \Fm QJJ

........ f’f(,sqem i in
O"m’ gotng.l....fo \HS\F o Job 44\
......................... 29901110{9 \90+

....... g z‘mtw‘m
CU?MM

Vv

gazJNm ......... {; ................................. .kl @ Tris is & clear. i  lthe simple.

opening for a story. The style has
frequent minor errors and tenses
are insecure. Expression is a little
awkward in places.

el oo em;w
Hoo. tnoxf d“d ............ 00[\17 .................. JuwwLu }moéz
Hieln.... W%% ...... LML 7? S o
...,ij.tllfezz.kzg.h.am.g.i? ........ . Wmf ..... e M‘,’@e .............
...... Hurr jWMWem A m9m(e rH;a
o Q.ummf ............. ~get.: oL »aocto :
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Example Candidate Response — low, continued

-

Mé@lﬂe()’fmwhh mHm e fom...
g okt By Aol
oo gt Ok ) hest. fierd... a0k pleased .. He...

Gt weeing.... gt v dusba Augetlan. aud.
oo Al We ke Wene. AOV\W ...... o Than....

Wp’t% Thamas... é@,o/l Co QA ne
weut. out0f the Punoly.. tinpordt Hhok.

Mbd&ﬁ“%‘ﬁ@é{%“rﬂwhugﬁow
v e habel M@'MJ ‘

e Mecdd.... o). Mickey \/V\ovgemze\ﬂmg 050

. 4 Ao W04 VERY.
....&&.99)..’. ....... We..... o UL

......................................................................................

Examiner comments

e A simple series of events with
limited use of narrative techniques
such as characterisation and
scene-setting.
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low, continued

Examiner comments

dho%'\vewi!/\k ....... to.. Hle... lowen cud _tHeu._ to..
o g)[a/w coMedl . Mins. @ F Waald. .10 U’ML

Ther..... We... tuent 4(@(7 cof Yoo TR o
thora..... @l;é@@ﬁ' V/e WM o Mowf Tf/(,f
whith twoa_ak 4he ... 1,000 Ft...o. T
Fhak. els be /ﬂvmola did.. fophote  shook
....... p (&@&A«»«J&M o s g e
wischedd . cud . had oun. . duwwch. . ok
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... Canne... bosh 77@ oun... hodle. s
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e Limitations of style are evident
here. Frequent errors in syntax
and punctuation are evident
but it is mainly the simplicity of
language and vocabulary that
prevents this piece from being
awarded a higher mark.

o A series of events is reported
rather than a developed narrative.
There is some evidence of
organisation and paragraphing.
Mark for content and structure =
6 out of 16
Mark for style and accuracy =
10 out of 24

Total mark awarded =
16 out of 40
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How the candidate could have improved their answer

For Content and Structure, there was some generally accurate organisation, although there was more simple
reporting than storytelling. More attention needed to be paid to establish characters and plotlines which would have
engaged the reader. This would also have demonstrated greater understanding of how narrative writing worked.
While storylines did not need to be complex, this simple account made very limited use of narrative techniques.

For Style and Accuracy, the simplicity of the vocabulary and sentence structures, along with the limited awareness
of the genre’s requirements, clearly fit this response in Level 3. The meaning was always clear, but more varied
language and control of sentence structures was needed for a mark to be awarded at Level 4.

Common mistakes candidates made in this question

In Descriptive Writing, some candidates were overly reliant on narrative to structure their responses, which resulted
in pieces which had limited descriptive content. For example, the descriptions for Question 2 were sometimes
predictable pieces, often based on beach scenes or holiday resorts, which included generic details rather than
closely observed and focused content. Similarly, in Question 3, some generic ideas and images to describe
tension and nervousness were used rather than the more striking and original images which often have greater
impact. This tendency to rely on rather stereotypical ideas and images was one of the most common mistakes in
approaching descriptive writing.

In Narrative Writing, one common mistake was a lack of preparation, especially in establishing characterisation and
setting, for a narrative in which a sequence of events became the main content. The need to engage the reader
with credible characters and plotlines was sometimes neglected, resulting in some action-driven narratives which
were less effective overall.

Style and Accuracy marks were often more limited by simple expression and language than by errors. A wide-
ranging and ambitious style in terms of vocabulary and sentence structures, in which effects are created
consciously and deliberately, was often more successful even where minor errors were frequent.
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